L I8 B =4
D EIENAE / 5 &R

AEIELAE - HHEBRRHH

EH 22122.
=ik
HEERLEH,
R V:E
4K R4 K FE AT ) B R AL R BB (EH
C W e 22120.),
o T 1.4305 184
®e BHLEED , LHEBETENE, AEH
. BRIER (POM) B30 HE AR = BT SALE B T
EEHT ESER
- W, B
- T4 14305, HE EREM
E3 FABH I
- BUBMPAG, BRE , BHF RIBLABMR.
T

- EWE, EAT2EREMND EEME
- IPEIEEN  ERTOEEME
© XBE ERTOEIRENS BIEME

=
ds
WS
=| :[ ]
S

g N

5 AN
u'_* | di | lock nut

i d, 22120.0116 - .0118 (Steel)

22120.0516 - .0518 (Stainless steel)
TEER
R ws WEEE" & F
d, d, I, ds I4 I3 Iy Fq F; min max.
-0,02 min ~ = ~
-0,04
[mm] [mm] [N] [°C] [a]

i

6 M12x1,5 6 28 56 22 6 19 6,5 19 -30 80 45 22122.0005

6 M12x1,5 9 28 56 22 6 19 6,0 25 -30 80 45 22122.0010

8 M16 x 1,5 8 28 62 26 8 19 8,5 26 -30 80 73 22122.0015

8 M16 x 1,5 12 28 62 26 8 19 8,5 28 -30 80 74 22122.0020

10 M16 x 1,5 12 28 62 26 8 19 9,5 38 -30 80 75 22122.0025
TEHW

6 M12x 1,5 6 28 56 22 6 19 6,5 19 -30 80 45 22122.0105

6 M12x 1,5 9 28 56 22 6 19 6,0 25 -30 80 45 22122.0110

M16 x 1,5 8 28 62 26 8 19 8,5 26 -30 80 73 22122.0115

8 M16 x 1,5 12 28 62 26 8 19 8,5 28 -30 80 74 22122.0120

10 M16 x 1,5 12 28 62 26 8 19 9,5 38 -30 80 75 22122.0125
Vit EiE
ENHALDER S

& 7E: 26.7.2024


http://halder.com/cn/22122.0005
http://halder.com/cn/22122.0010
http://halder.com/cn/22122.0015
http://halder.com/cn/22122.0020
http://halder.com/cn/22122.0025
http://halder.com/cn/22122.0105
http://halder.com/cn/22122.0110
http://halder.com/cn/22122.0115
http://halder.com/cn/22122.0120
http://halder.com/cn/22122.0125

L I8 B =4

DEEMAE / 5 BRE
35S
R+ WFRF i ms
d;
[mm] [mm] [g]
M12x 1,5 18 7,5 22120.0116
M16 x 1,5 24 15,0 22120.0118
TN
@ M12x 1,5 18 7,5 22120.0516
{ ’ M16 x 1,5 24 15,0 22120.0518
g
For detailed compliance information please select the desired article number.
22

tNHALDER

& 7E: 26.7.2024


http://halder.com/cn/22120.0116
http://halder.com/cn/22120.0118
http://halder.com/cn/22120.0516
http://halder.com/cn/22120.0518

